
350Z-SDMT

Parts List

Item Qty Part Name

1 2 Z33 ENGINE MOUNT HOUSING

2 2 ISO:4027 M10x50x1.25

3 2 M10 WASHER

4 2 NYLON LOCKNUT M10x1.25

5 2 ISO:4027 M12x50x1.5

6 2 M12 WASHER

7 2 NYLON LOCKNUT M12X1.75

7

6

5

1

2

3

4

TIGHTEN TO 52 Nm (38 ft lb)

TIGHTEN TO 89 Nm (65 ft lb)

TIGHTEN TO 68 Nm (50 ft lb)
USE OF MEDIUM STRENGTH
THREAD LOCKER RECOMMENDED

TIGHTEN TO 33 Nm (24 ft lb)
USE OF MEDIUM STRENGTH
THREAD LOCKER RECOMMENDED


